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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

21 DEC 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e \ 7052477777/7052577777
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Ques--:The value of [(3+5-4) +(17-3%x 4)]+[4+2-16+4+3] 1s:
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Two successive discount of 25% 1s equivalent to a single discount % of ?
25% bt 21 shiteh B ok Teh U B o GHA BT 2

A. 43.75
B. 56.25
C. 50
D. 45
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Find the value of 0.08% of 120% of 50,000.

50,000 3hT 120% 3T 0.08% kT AT JTd hifSH ?

+ A. 480

Cul B. 48
C. 4800
D. 4.8
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A and B can complete a piece of work 1n 21 days and 42 days respectively. They
started working together but after 7 days both left the work. Then what fraction of
work 1s left?

A 3R B Toreft T ol shART: 21 Ta ST 42 1o H 900 o @kl @ | o Toh |1 h13 i
AT HLd © AR 7 TaT & 912 1 vl BIed It ST 8 | T S1d13¢ ok femaeT T
I AT 2

A. 1/3
B. Z
C. 2/3
D. /2
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A grocer sold his 1600 kg of wheat in two parts. He sold a part of it at 20% profit
and remaining at 12 % profit , and he made a total profit of 17%. Find how much
quantity of wheat (in kg) did he sell at 20% profit ?

Teh GERT 39 1600 ToRIT Tig ol a1 AT H SI=rdT @ | 36 38Rl Th 68T 20% AT 0
HITIT T 12 % AT G ST €, I TE LA o T 17% 1 AT SAfsicl LT 2 |
ql SATST foh S 20% ATH W feheT (fohum ) 71 sf=i 2

A. 600
B. 1000
C. 3800
D. 1200
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A starts a business by investing Rs 5 lakhs. B joins the business after 2 months, by
investing Rs.10 lakhs And 4 months after B joined, C too joins them by investing
Rs. 20 lakhs. They obtained Rs. 3,50,000 as profit at the end of year. Find the
share of B from the total profit (in Rs.)?

A, 5 AT &9 431 ek Teh SI9E™ TRY Fd © | B, 2 HE9 o1€ 10 9rd &9 faen
h{oh SIETd H ST ST & 3R B o SIS % 4 HEH 1€ C , 20 AT &9 3h oI shieh
ST H (S ST & | o a9 o 37 H el 3,50,000 TR T YT FAATS, AT ATHH H B
1 Texar d hils 2

A. 75000

B. 125000
C. 150000
D. 100000
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A, B and C together can paint a wall in 12 days. A is twice as efficient as B and C
alone can the same work 1n 36 days. In how many days can A and B complete the
same work, if C left the work?

A, B 3 C TieTert ek 2eTet shl T 12 fedT H i dehd € | A, B € QITHT ShHeheTet §
3T C 3Tehed 3HT T okl 36 ST H o HohdT © | O IATST o A 3T B THeTert 3¢t sl
1 Terd TadT H 90 i, Al C 1 BIS L 9l ST @ 2

10
20
15
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Find the third proportional to 8 and 24.
8 ST 24 =1 BrcTaTaTet et hifSr |
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If a sum of Rs. 25,000 1s to be divided between A, B and C in such a way that the
ratio of amount will be 1/10: 1/6: 1/15, then how much rupees will C get ?

Ie 25,000 TG T FAURT R A, B 3 C o o= 39 YohR faiisia foram sire [ for e
ST JTH STRT ok offl 3T AT 1/10 2 1/6 1 1/ 158, T C i Teoha &9 ITH ST 2

A. 5000
B. 7500
C. 10000
D. 12500
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In a test marks of Sanjay in two subjects, English and Hindi are in the ratio 7:11. If
he got 20 marks more in Hindi than in English, then find his marks in English?

Teh SEEH , G5 o al o Sfusit 3T f&dt o 3feh 7 : 11 % S1uIa 8 & | afe o8 et |
AU & 20 3ok 7T ITH AT © , T TS H I8k ST ITH o3 T 3k 1 hifSr 2

A. 35
B. 55
C. 45
D. 65
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